
                                                                                              

Rev. / 版別 / Rev. 0001-B                                  1                      Factory # / 工廠編號 / Fábrica # JIWOHA 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY 

內含重要事項，請妥為保存以供日後參考：請詳閱 

IMPORTANTE, RETENER PARA USO FUTURO: LEA CUIDADOSAMENTE 
 
 

Customer Service: 1-866-942-5362 
English, French and Spanish 
Monday - Friday, 8:30 a.m. - 4:30 p.m. PST 
(In US, Canada, and Mexico only) 

客服專線：1-866-942-5362 

僅提供英語、法語及西班牙語服務 

太平洋標準時間，週一至週五，上午 8:30 至下午 4:30 

(僅限美國、加拿大及墨西哥) 

www.whalenfurniture.com 

ITM. / ART. 707636 
MODEL / 型號 / MODELO WSWB722436W-US 

 

182.9 公分 

72 in 
72 po 

 

61 公分 

24 in 
24 po 

 

94 公分 

37 in 
37 po 

 

Industrial Metal and Wood Workbench 

工業風金屬與木製工作臺 

Banca de Trabajo de Metal Industrial y de Madera 

Servicio al cliente: 1-866-942-5362 
Inglés, Francés y Español 
Lunes - Viernes, 08:30 a.m. - 4:30 p.m. PST 
(solamente en E.U.A, Canadá y México) 



2                         

 
 
 

 
 

 The product is not recommended for outdoor use. Strongly recommend at least two adult people to assemble this unit.  

 本產品並不建議於戶外使用。強烈建議至少由兩位成人組裝本產品。 

 El producto no esta recomendado para uso en exteriors. Se recomiendan 2 personas adultas para el ensamble de está unidad.  

 
 
 
 
 
 

 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 

Load Capacity / 可承載重量 / Capacidad de carga 

Top / 頂部 / Tapa : 136 公斤 / 300 磅 

Each Small Drawer / 各個小抽屜 / Cajón pequeño : 22.6 公斤 / 50 磅 

Each Large Drawer / 各個大抽屜 / Cajón grande : 45.3 公斤 / 100 磅 

Wire Deck / 網狀層架 / Parrilla de alambre : 99.7 公斤 / 220 磅 

Drawer Slide / 抽屜滑軌 / Grande Deslizador : 45.3 公斤 / 100 磅 

 
Entire unit maximum capacity / 整組最重可承載 / Capacidad máxima de toda la unidad : 326.5 公斤 / 720 磅 

 

 
 
Failure to follow these guidelines can result in property damage or personal injuries. 

未遵照這些指示可能會導致財產損失或造成人身傷害。 

El incumplimiento de estas directrices puede provocar daños materiales o lesiones personales  

 

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字
警告／注意事項：

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字
１．家具傾倒會產生嚴重或致命的碾
壓傷害。為了避免家具傾倒，請將重
的物件置於最底層。
２．請勿讓孩童攀爬家具及抽屜。
３．此商品非電視櫃功能設計，請
勿放置電視組或其它重物於檯面。
４．請勿同時開啟一個以上的抽屜，
以避免產品重心不穩。
５．安裝時，請遵守組裝說明。請勿
變更商品原始設計，以免影響功能、
或因組裝不正確而造成生命及財產的損害。
６．必要時，請加裝防傾倒裝置（產品不含）。


BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字

BUY569
打字機文字



3                         

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Tools Required (not included) / 需使用的工具（產品未附贈）/ Herramienta requerida (no incluida) 

 

 
 

Parts List / 零件明細 / Lista de partes 

A 
X1 

B 
X1 

C 
X1 

D 
X1 

E 
X2 

F 
X2 

G 
X1 

H 
X2 

I 
X2 

J 
X30 + 2 extra/ 

額外附贈/ extra 

K 
X30 + 2 extra/

額外附贈/ extra 

 

M 
X4 + 1 extra/

額外附贈/ 

extra 

A 

B 

I 

D 

C 

E 

F 

F 

G 

H 

L 
(M10) 

X30 + 2 extra/

額外附贈/ extra 

 

N 
(M20) 

X4 + 1 extra/

額外附贈/ 

extra 
 

O 
X2 

P 
X1 

Q 
X1 

X2 X1 



4                         

Assembly Instructions / 組裝說明 / Instructivo de ensamble 
 

 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

2． 

 

L 

 

              X6 
 

 

J 

 

              X6 
 

 

 

Estimated Assembly Time: 50 minutes. / 預計組裝完成時間 : 50 分鐘。 / Tiempo estimado de ensamblaje: 50 minutos. 

 

J 

K 

 

              X6 
 

 

C 

B 

E 

K 

J 

 

              X12 
 

 

K 

 

              X12 
 

 

B 

C D 

E 

E 

K 

J 

L 

L 

 

              X12 
 

 
L 

1． 

 

Please wait until all steps are completed before fully tightening bolts. / 請在所有的安裝步驟完成後再鎖緊螺栓。 / Por favor esperar hasta que todos 

los pasos se completan antes de apretar completamente los tornillos. 

 

Please wait until all steps are completed before fully tightening bolts. / 請在所有的安裝步驟完成後再鎖緊螺栓。 / Por favor esperar hasta que todos 

los pasos se completan antes de apretar completamente los tornillos. 
 



5                         

Assembly Instructions / 組裝說明 / Instrucciones de ensamble 

 
 
 
 

 

 
 
 
 
 

 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 

 

4． 

 

3． 

 
J 

 

              X12 
 

 

K 

 

              X12 
 

 

M 

 

              X4 
 

 

K 

M 

J 

A 

G 

C 

H 

I 

L 

L 

 

              X12 
 

 

N 

 

              X4 
 

 
N 

H 

Please wait until all steps are completed before fully tightening bolts. / 請在所有的安裝步驟完成後再鎖緊螺栓。/ Por favor esperar hasta que todos 

los pasos se completan antes de apretar completamente los tornillos. 
 

Protective packaging material on drawer edge to be removed after the legs have been attached. / 在完成桌腳的

安裝後請將保護抽屜邊緣的包裝材料拆下。/ Material de empaque de protección en el borde del cajón se retira 

después de que las patas se han adjuntado. 
 



6                         

Assembly Instructions /組裝說明/ Instrucciones de ensamble 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Care and Maintenance / 保養及維護 / Mantenimiento y cuidados 
 

1. Use a soft, clean cloth that will not scratch the surface when dusting. 
2. Using solvents of any kind on your product may damage the finish. 
3. Do not use any harsh abrasives or chemicals to clean any metal surfaces as it may damage the protective coating. 
4. Touch-up Pen (Q) has been provided to repair any small nicks or scratches that may occur during assembly or shipping. 
 

1. 除塵時使用不會磨損表面的柔軟、乾淨布料擦拭。 

2. 使用任何類型的溶劑都可能損壞產品的表面。 

3. 請勿使用任何粗糙磨料或化學物品清理金屬表面，這都會破壞保護塗層。 

4. 產品已附的補漆筆（Q）可修復組裝或運送時產生的小刻痕或刮傷。 
 

 

1. Utilice un paño limpio y suave que no raye la superficie cuando quite el polvo. 
2. No usar disolventes de ningún tipo en su producto porque podría dañar el acabado. 
3. No utilice productos abrasivos o productos químicos ásperos para limpiar las superficies de metal, ya que puede dañar el   

recubrimiento protector. 
4. Plumón (Q) se ha proporcionado para reparar los pequeños rasguños o arañazos que pueden ocurrir durante montaje o envío. 

5. 

F 

F 

F 

6. 

O 

O 
P 

Hold wire deck (G) while turning over. / 翻動桌子時請先握住網狀層架(G) 。/ Mantenga la 

repisa de alambre (G) mientras se voltea la pieza. 
 



7                         

IF YOU ARE REQUIRED TO ORDER PARTS PLEASE USE THE LIST BELOW /若您必須訂購零件請使用以下明細資料/ SI  

REQUIERE ORDENAR PARTES UTILIZAR LA LISTA INFERIOR 
 

Industrial Metal and Wood Workbench /工業風金屬與木製工作臺/ Banca de 

Trabajo de Metal Industrial y de Madera 
           
1 *WSWB722436W-US-01-TK  Top Kit / 頂部組件 / Tapa c/cajones           Set/組/Conjunto 
2 *WSWB722436W-US-02-LSF  Left Side Frame / 左側邊框 / Marco izquierdo         Pcs/個/PC 
3 *WSWB722436W-US-03-RSF  Right Side Frame /右側邊框/ Marco Derecho         Pcs/個/PC 
4 *WSWB722436W-US-04-UB  Upper Beam / 上端橫桿 / Soporte superior         Pcs/個/PC 
5 *WSWB722436W-US-05-BB  Bottom Beam / 底端橫桿 / Soporte inferior         Pcs/個/PC 
6 *WSWB722436W-US-06-TS  Tie Support / 固定支撐桿 / Soporte unión          Pcs/個/PC 
7 *WSWB722436W-US-07-WD  Wire Deck / 網狀層架 / Parrilla de metal          Pcs/個/PC 
8 *WSWB722436W-US-08-LC  Locking Caster / 固定腳輪 / Rueda con freno         Pcs/個/PC 
9 *WSWB722436W-US-09-SC  Swivel Caster / 旋轉腳輪 / Rueda giratoria         Pcs/個/PC 
10 *WSWB722436W-US-10-HB  Hex Bolt M10X20 / 六角螺栓 M10X20 / Tornillo hexágonal M10X20     Pcs/個/PC 
11 *WSWB722436W-US-11-HN  Hex Nut / 六角螺帽 / Tuerca hexágonal          Pcs/個/PC 
12 *WSWB722436W-US-12-LW  Lock Washer M10 / 防鬆墊圈 M10 / Arandela presión M10      Pcs/個/PC 
13 *WSWB722436W-US-13-PHB  Phillips Head Bolt M6X15 / 十字槽螺栓 M6X15 / Tornillo estrella M6X15    Pcs/個/PC 
14 *WSWB722436W-US-14-DLS  Drawer Liner Small / 抽屜襯墊 – 小 / Esponja de cajón pequeño     Pcs/個/PC 
15 *WSWB722436W-US-15-DLL  Drawer Liner Large / 抽屜襯墊 – 大 / Esponja de cajón grande     Pcs/個/PC 
16 *WSWB722436W-US-16-LSD  Left Side Drawer / 左側抽屜 / Cajón izquierdo         Set/組/Conjunto 
17 *WSWB722436W-US-17-MD  Middle Drawer / 中間抽屜 / Cajón medio          Set/組/Conjunto 
18 *WSWB722436W-US-18-RSD  Right Side Drawer / 右側抽屜 / Cajón derecho         Set/組/Conjunto 
19 *WSWB722436W-US-19-LW  Lock Washer M20 / 防鬆墊圈 M20 / Arandela presión M20      Pcs/個/PC 
20 *WSWB722436W-US-20-TP  Touch-up Pen / 補漆筆 / Plumón           Pcs/個/PC 
21 *WSWB722436W-US-21-CH  Complete Hardware / 完整五金組 / Herraje completo        Set/組/Conjunto 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   

   

  
 

 
  

  

  

   

 



8                         

                                             
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Made in China / 中國製 /Hecho en China 

Distributed by: 
Costco Wholesale Corporation 

P.O. Box 34535 
Seattle, WA 98124-1535 

USA 
1-800-774-2678 
www.costco.com 

Importado por: 
Importadora Primex S.A. de C.V. 

Blvd. Magnocentro No.4 
San Fernando La Herradura 

Huixquilucan, Estado de México 
C.P. 52765 

RFC: IPR-930907-S70 
(55)-5246-5500 

www.costco.com.mx 

Imported by / Importé par : 
Costco Wholesale Canada Ltd.* 

415 W. Hunt Club Road 
Ottawa, Ontario 

K2E 1C5, Canada 
1-800-463-3783 
www.costco.ca 

* faisant affaire au Québec sous le nom Les Entrepôts Costco 

Imported by: 
Costco Wholesale UK Ltd / 

Costco Online UK Ltd 
Hartspring Lane 
Watford, Herts 

WD25 8JS 
United Kingdom 
01923 213113 

www.costco.co.uk 

Importado por: 
Costco Wholesale Spain, S.L.U. 

Polígono Empresarial Los 
Gavilanes 

C/ Agustín de Betancourt,17 
28906 Getafe (Madrid) España 

NIF : B86509460 
900 111 155 

www.costco.es 

Distributed by: 
Costco Wholesale Iceland Ehf. 
Kauptún 3-7, 210 Gardabaer 

Iceland 
www.costco.is 

Imported by: 
Costco Wholesale Australia Pty Ltd 

17-21 Parramatta Road 
Lidcombe NSW 2141 

Australia 
www.costco.com.au 

Imported by: 
Costco Wholesale Japan Ltd. 

3-1-4 lkegami-Shincho 
Kawasaki-ku, Kawasaki-shi, 
Kanagawa 210-0832 Japan 

044-281-2600 
www.costco.co.jp 

Imported and Distributed by: 
Costco Wholesale Korea, Ltd. 

40, lljik-ro 
Gwangmyeong-si 

Gyeonggi-do, 14347, Korea 
1899-9900 

www.costco.co.kr 

 進口商／委託製造廠商： 

好市多股份有限公司 

高雄市中華五路656號 

統一編號：96972798 

0800-885-889 
www.costco.com.tw 

Distribué par: 
Costco France  

1, avenue de Bréhat  
91140 Villebon-sur-Yvette (France) 

www.costco.fr 

http://www.costco.ca/



